EARAROBREBRT —5 XN—ZXBISH—F

2022658198 (R) SHIEH2H

L S OEFRIAT1A2 BS5FR4AKE

‘(fﬁ} W ‘I%EH?’JFE‘?] ~ | 5 1w =

[AE%] 1 7% :2,500,000 § ~ 23&:1,000,000 M / 3&:

625,000 43%&:375,000

5 7& 1 250,000 M4

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
SYILN 4 7 | TRE 2:07.8 4-4-1-2 |37.9| - 1 534 | Bh—15 (BEH)
1155 | ¥NARILIFYNF 57.0 ) © | @ USTLyRrRISTSTATY
RPAIVNTPFHF— BAXUFEY2 BN e
S~ S SNEE : ~7-5- - HERE (EH)
2 3| T4V YHR—Y # 5 B 2.?%.0 7-7-5-5 | 37.6 2 (4_81(; ;E ;
RixAIZI7—R B:Fa1—-T5—AN)LX SERIS
» g o6 | EEM 2:08.4 9-9-9-8 |37.5| — 3 507 | JbEFEISh (FEksh)
3N 4| 7—RBAR 54.0 2172 1 |EED
R:VEILDF— B:FRY3avh RERS
= Y 7 | BEE= 2:08.4 3-3-4-4 |38.4| — 8 | 466 |HP—I5 (EH)
411111739 —AMU—L4 56.0 F9Iv) (1) | TEAdH
RiFI—MURYI B:Y—TYvITR #HET7—L
S~ AKX : -8-8- - JeE=sh (FkR)
slglg| TAYYFEIL # 10 3 (21018/27) 8-8-8-6 | 38.0 6 (4_873) g
RixAIZI7—R B:I—-YV5T7—-UTL SIERUS
NS s o7 | SptE— 2:09.1 1-1-3-1 |39.3| - 4 | 53 |/AWIEt: (EH)
6177|113 56.0 21/2 @3) | TEKEX
RiNZ—ka1—X B:OAVIAFTVTD INRBUS
RS —=_ tv 9 | HPF 2:09.4 2-2-2-3 [ 39.5| — 9 469 |HPEX (FEkR)
7188 YbhSRT—5 54.0 (112 ) (Iﬁl;hJ P NHER
R:¥r/0704 By TFHYFRS HBEIT7—L
o S, e P KILEE : -5-6- - Arifg (EH)
8 5 | IB IRy N— LERA (21019/27) 5-5-6-7 | 39.4 5 (4_9:) el
RIIVIATA—H— B:INZAILRA )RS
N <, Lo =T : -6-6- - FEMECE (FkR)
9 6 IHITFIE—I 4 8 54% 1T 2(}2))3 6-6-6-9 | 40.9 7 (E)?:)) AL
RIIVISATA—H— BivvROL—Y #HET7—L
@ 11— —‘@BIEfI
13—3— 7,8,1,5,2,6,3,9,4
20—7F— 7,8,1,5,2,6,3,9,4
31—7F— 5,8,7,1,3,(2,6),9,4
40—F— 7,5,8,1,3,9,2,4,6
o ILRE
BB 5 150/ JA R 3-5 220/ & 3-5 410 3EE 3-4-5 490/
B B 5 100M4 4-5 2004 5B E 3-5 460 3EE 5-3-4 1,540
3 130 3-4 2804 =51 5-3 660M]
4 110/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




